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Geometry CC — Unit 5 Review
Important concepts/terms to remember:
* SSS Congruence
* SAS Congruence
* AAS Congruence
* ASA Congruence
* HL Congruence
* CPCTC
* Reflexive Property
* Addition Postulate
* Subtraction Postulate
State if the below triangles are congruent and, if so, by what postulate:
1) 2)
,/\ NO LoN ¢LUEN CE . ASA
; /’/' 337 Fhi's 1s ASS
COnj menee v’
3) 4)
/N /\
/ \\ 5 . .
L ,./\‘ S5 \/ ASA
. -
5) 6)
h i’ : No CoNGRUENCE
AS A
f This rs :\_g_)_i HL
7 : 8) isd
i : \\ :

SAS
§58



9) 10) H
SAS \/\

SSs

State what additional information is needed in order to know that the triangles are congruent for the
given reason:
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Fill in any missing pieces in the below proofs:
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Complete the following proofs:
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Given: C 1s the midpoint of BD and AE
Prove: /\ABC = AEDC
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Prove: ALMN=APON
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Given: Triangle ABC is isosceles with AB=AC A
AX is a Median to BC
Prove: 4BAX=ACAX
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